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w GAME 1 GAME 2 GAME 3 GAME 4 FINAL TOTAL POINTS PER GAME
3 TEAM GOALS : GOALS GAME | GAME | GAME | GAME TOTAL FINAL
= GF:GA: P |GF:GA: P |GF:GA: P |GF:GA: P |GF:GA: P PENALTY POINTS
FOR :AGAINST 1 2 3 4
HORSESHOES | 5 : 1 : 0| 8 : 4 : 1| 9:3:2|7:4:0]4:3:0 33 15 3 2 2 2 2 8
MOONS 5:3:0|]6:4:0|5:4:1]4:7:0(3:4:0 23 22 1 2 2 2 0 6
3 | RAINBOWS 1:5:1|3:2:1]5:6:0|]8:3:3]6:2:0 23 18 5 0 2 0 2 4
4 | HEARTS 3:5:12|4:{8:{1|6:5:1]4:0:02:6:0 19 24 4 0 0 2 2 4
5] SHAMROCKS |10: 2 : 0| 4:6 1] 3:9:0]3:8:1]|8¢:3:2 28 28 4 2 0 0 0 2
6 | STARS 2 :10: 1| 2:3:0|4:5:0]0:4:2(3:8:0 11 30 3 0 0 0 0 0
GF = GOALS FOR WIN =2 POINTS
GA = GOALS AGAINST TIE =1 POINT

P = PENALTIES LOSS = 0 POINTS



